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MISPRINTS
In each of these clues, one letter has been printed
incorrectly or left out entirely. Can you work out what 
the clues should be and solve the puzzle? 2 Down, 
for instance, should read ‘Christmas bird’, which is 
ROBIN.

P
ACROSS
 1 Wolf cry (4)
 3 Plot with otters (8)
 9 Mended shops (7)
 10 Desert raven (5)
 11 Solitary parson (5)
 12 Latest crates (6)
 14 Large hood (6)
 16 Pound system (6)
 19 Dye membrane (6)
 21 First Greek setter (5)
 24 Many a tile (5)
 25 Hot cub (7)
 26 Area in front of bars (8)
 27 Hearth (4)

DOWN
 1 Process to remove 

winkles (4-4)
 2 Christmas bard (5)
 4 At fork (2,4)
 5 Unit of height (5)
 6 One in the snow (7)
 7 Dimple (4)
 8 Office corkers (6)
 13 Hairy substitute (4,4)
 15 Male owl (7)
 17 Root of straw (6)
 18 Lass container (3-3)
 20 Children’s curse (5)
 22 Italian lie (5)
 23 Horses’ food (4)
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